mean # PXL hits vs eta

<pixel hits>

Ratio

0.95

.....................................................................

=
J

¢
i

@

| mean # PXL Layers with measurement vs eta |

<pixel layers>

Ratio

= N w B
N U1 W o AU

O
I

o
al
I

&

.....................................................................

mean # STRIP hits V|

<strip hits>

Ratio

CMSSW_mkFitOriginal__RECO

DQM_VOOUT_RO0000000T__Global_CMSSW ki _RECO
DQM_V0001_R000000001__Global_ |
DQM_V0001_R000000001_Global_CMSSW_mkFitLowPtQuad__RECO

[N
(o))
|

[EEY
IS
|

[EnY
N
|

10~

.....................................................................

............................

0.9

0.8

<strip layers>

Ratio

DQM_V0001_R000000001__Global _CMSSW_mkFitLowPtTriplét_ RECO

0.9

0.8

9

8
7
6
5
4
3
2

1
0

1

%




	Contents
	Page 1


